
#Indep of surf example

Ex.
surf

Replace surf with ra's disk. sIx, y) = 47, y.08 for D= Gly,y) | x3+y'693
Jo curl F-(rukro) dA

- Direct compute

... more work ...

" Reverse stake's to turn it into live integral
Is curd id's = Iss F-di
r (t) = 13 cos t, 3 sint, o),

So, 6cost, asin t%- r'At) It

# Divergence Theorem

The Let s be a closed oranted
Let I be a c' up, with domain E. Then.surf in R3 and I be the region bounded by s,

Recall Green's Last ids =IS diw F dA
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(= Nds)



E is X+ +2y +474=1 F= (x, 4, 2)

= Sle 3 dv
= 3 ]lle dV * Use change of var if not using formula

Ex.
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